

INTEGRO-DIFFERENTIAL EQUATIONS WITH INITIAL TIME DIFFERENCE

BASHIR AHMAD

Department of Mathematics, Faculty of science, King Abdulaziz University,
P.O. Box 80203, Jeddah 21589, Saudi Arabia (bashir_qau@yahoo.com)

ABSTRACT. We apply Lakshmikantham's generalized quasilinearization method to an initial value problem involving a nonlinear integro-differential equation with initial time difference and obtain monotone sequences of lower and upper solutions converging uniformly and quadratically to the unique solution of the problem.

AMS(MOS) Subject Classification: 45J05, 34D10, 34D99.

1. INTRODUCTION

The method of quasilinearization developed by Bellman and Kalaba [1] and generalized by Lakshmikantham [2-3] later on, has been studied and extended in several diverse disciplines. In fact, it is generating a rich history and an extensive bibliography can be found in [4-10].

In the study of initial value problems involving nonlinear differential equations, we generally perturb or change the dependent (spatial) variable keeping the initial time unchanged. However, this approach is not realistic in the sense that it is impossible not to make the errors in the starting time [11] as the solution of unperturbed dynamical system may start at a different time in comparison with the perturbed dynamical system. Recently, the concept of changing initial time along with the dependent variable has been initiated and some results on the comparison theorems, global existence, stability criteria, the method of upper and lower solutions, monotone iterative technique, etc. can be found in the references [12-15].

In view of the extensive occurrence of the integro-differential equations in the mathematical modelling of physical problems, for example, see [16-19], the theory and applications of integro-differential equations have emerged as a new area of investigation [4, 20-23].

The objective of the present study is to develop the generalized quasilinearization

method for an initial value problem involving Volterra integro-differential equations with initial time difference. In fact, we consider the following initial value problem

$$u'(t) = Af(t, u(t)) + B \int_{t_0}^t K(t, s, u(s))ds, \quad t \in J = [t_0, t_0 + T], \quad t_0 \in R_+, \quad T > 0,$$

$$(1) \quad u(t_0) = u_0,$$

where A, B are nonnegative real constants and obtain sequences of upper and lower solutions for the integro-differential equation that start at different initial times and bound the solution of the given nonlinear problem. It has also been shown that the lower and upper sequences of approximate solutions converge monotonically and quadratically to the unique solution of the problem (1).

2. PRELIMINARIES

Now, we state some important theorems which lay the foundation to prove the main result (for the proof of Theorem 1, one can apply the methodology of reference [14] while Theorem 2 is a known result [4]).

Theorem 1. Assume that

- (a) Let $f \in C[R_+ \times R, R]$, $K \in C[R_+ \times R_+ \times R, R]$, $\alpha \in C^1[[t_0, t_0 + T], R]$ and $\beta \in C^1[[\tau_0, \tau_0 + T], R]$, $\tau_0 > 0$ be such that

$$\alpha'(t) \leq Af(t, \alpha(t)) + B \int_{t_0}^t K(t, s, \alpha(s))ds, \quad t \in [t_0, t_0 + T],$$

and

$$\beta'(t) \geq Af(t, \beta(t)) + B \int_{t_0}^t K(t, s, \beta(s))ds, \quad t \in [\tau_0, \tau_0 + T],$$

with

$$\beta(\tau_0) \geq \alpha(t_0).$$

- (b) $f(t, u(t))$ is nondecreasing in t for each u and $K(t, s, u(s))$ is nondecreasing in t for each fixed $(s, u(s))$ and $\alpha(t) \leq \beta(t + \eta)$ for $t \in [t_0, t_0 + T]$, $\eta = \tau_0 - t_0$ with $t_0 \leq \tau_0$.

Then there exists a solution $u(t)$ of (1) such that $\alpha(t) \leq u(t) \leq \beta(t + \eta)$ for $t \in [t_0, t_0 + T]$.

Theorem 2. Suppose that the following hold

- (a) Let $f \in C[J \times R, R]$ and $K \in C[J \times J \times R, R]$ be such that $K(t, s, u(s))$ is monotone nondecreasing in u for each fixed $(t, s) \in J \times J$.

(b) Let $u, v \in C^1[J, R]$ be such that

$$u'(t) \leq Af(t, u(t)) + B \int_{t_0}^t K(t, s, u(s))ds, \quad t \in J,$$

$$v'(t) \geq Af(t, v(t)) + B \int_{t_0}^t K(t, s, v(s))ds, \quad t \in J.$$

(c) $f(t, u) - f(t, v) \leq \epsilon_1(u - v)$, $K(t, s, u) - K(t, s, v) \leq \epsilon_2(u - v)$, where $t \in J$, $(t, s) \in J \times J$, $u \geq v$, $\epsilon_1 \geq 0$, $\epsilon_2 \geq 0$.

Then $u(t) \leq v(t)$ on J provided $u(t_0) \leq v(t_0)$.

3. MAIN RESULT

Theorem 3. Assume that

(A₁) Let $f \in C[R_+ \times R, R]$, $K \in C[R_+ \times R_+ \times R, R]$, $\alpha \in C^1[[t_0, t_0 + T], R]$ and $\beta \in C^1[[\tau_0, \tau_0 + T], R]$, $\tau_0 > 0$ be such that

$$\alpha'(t) \leq Af(t, \alpha(t)) + B \int_{t_0}^t K(t, s, \alpha(s))ds, \quad t \in [t_0, t_0 + T],$$

and

$$\beta'(t) \geq Af(t, \beta(t)) + B \int_{t_0}^t K(t, s, \beta(s))ds, \quad t \in [\tau_0, \tau_0 + T],$$

with

$$\beta(\tau_0) \geq \alpha(t_0).$$

(A₂) $f(t, u(t))$ is nondecreasing in t for each u and $K(t, s, u(s))$ is nondecreasing in t for each fixed $(s, u(s))$.

(A₃) $f, \phi \in C^{0,2}[[t_0, t_0 + T], R]$ be such that $f_{uu}(t, u) + \phi_{uu}(t, u) \geq 0$ with $\phi_{uu}(t, u) \geq 0$ on Ω , where $\Omega = [(t, u) : t_0 \leq t \leq t_0 + T, \bar{\alpha}_0(t) \leq \bar{u}(t) \leq \bar{\beta}_0(t)]$ and $\bar{\beta}_0(t) = \beta(t + \eta_1)$, $\eta_1 = \tau_0 - t_0$, $\bar{\alpha}_0(t) = \alpha(t)$ and $\bar{u}(t)$ is the unique solution of

$$\bar{u}'(t) = Af(t + \eta_2, \bar{u}(t)) + B \int_{t_0}^t K(t + \eta_2, s, \bar{u}(s))ds,$$

where $\eta_2 = \zeta_0 - t_0$, $t_0 < \zeta_0 < \tau_0$.

(A₄) $K(t, s, u)$ is monotone nondecreasing in u and $K_{uu}(t, s, u) \geq 0$ for each fixed $(t, s) \in J \times J$.

Then, there exist monotone sequences $\{\bar{\alpha}_n(t)\}$ and $\{\bar{\beta}_n(t + \eta)\}$ of solutions which converge uniformly to the unique solution of (1) with $u(\zeta_0) = u_0$ on $[\zeta_0, \zeta_0 + T]$ and the convergence is quadratic.

Proof. From assumption (A_3) , $\bar{\beta}_0(t) = \beta(t + \eta_1)$ so that $\bar{\beta}_0(t_0) = \beta(\tau_0) \geq \alpha(t_0) = \bar{\alpha}_0(t_0)$ and

$$\begin{aligned} \bar{\beta}'_0(t) &= \beta'(t + \eta_1) \\ &\geq Af(t + \eta_1, \beta(t + \eta_1)) + B \int_{t_0}^t K(t + \eta_1, s, \beta(s + \eta_1)) ds \\ &= Af(t + \eta_1, \bar{\beta}_0(t)) + B \int_{t_0}^t K(t + \eta_1, s, \bar{\beta}_0(s)) ds, \quad t_0 \leq t \leq t_0 + T. \end{aligned}$$

It also follows from (A_3) and (A_4) that $f(t, u) - f(t, v) \leq \epsilon_1(u - v)$, $\epsilon_1 \geq 0$, $K(t, s, u) - K(t, s, v) \leq \epsilon_2(u - v)$, $\epsilon_2 \geq 0$ whenever $\bar{\alpha}_0(t) \leq v \leq u \leq \bar{\beta}_0(t)$, for $t_0 \leq t, s \leq t_0 + T$.

Moreover, introducing $F(t, u) = f(t, u) + \phi(t, u)$, we find that

$$(2) \quad f(t, u) \geq F(t, v) + F_u(t, v)(u - v) - \phi(t, u),$$

$$(3) \quad K(t, s, u) \geq K(t, s, v) + K_u(t, s, v)(u - v).$$

Let $\bar{\alpha}_1$ and $\bar{\beta}_1$ be the solutions of the following initial value problems

$$\begin{aligned} \bar{\alpha}'_1(t) &= A[f(t + \eta_2, \bar{\alpha}_0) + \{F_u(t + \eta_2, \bar{\alpha}_0) - \phi_u(t + \eta_2, \bar{\beta}_0)\}(\bar{\alpha}_1 - \bar{\alpha}_0)] \\ &+ B \int_{t_0}^t [K(t + \eta_2, s, \bar{\alpha}_0(s)) + K_u(t + \eta_2, s, \bar{\alpha}_0(s))(\bar{\alpha}_1(s) - \bar{\alpha}_0(s))] ds, \end{aligned}$$

$$(4) \quad \bar{\alpha}_1(t_0) = u_0,$$

and

$$\begin{aligned} \bar{\beta}'_1(t) &= A[f(t + \eta_2, \bar{\beta}_0) + \{F_u(t + \eta_2, \bar{\alpha}_0) - \phi_u(t + \eta_2, \bar{\beta}_0)\}(\bar{\beta}_1 - \bar{\beta}_0)] \\ &+ B \int_{t_0}^t [K(t + \eta_2, s, \bar{\beta}_0(s)) + K_u(t + \eta_2, s, \bar{\alpha}_0(s))(\bar{\beta}_1(s) - \bar{\beta}_0(s))] ds, \end{aligned}$$

$$(5) \quad \bar{\beta}_1(t_0) = u_0,$$

where $\bar{\alpha}_0(t) \leq u_0 \leq \bar{\beta}_0(t)$. Now we prove that

$$(6) \quad \bar{\alpha}_0(t) \leq \bar{\alpha}_1(t) \leq \bar{\beta}_1(t) \leq \bar{\beta}_0(t),$$

in three steps:

(i) Set $p(t) = \bar{\alpha}_0(t) - \bar{\alpha}_1(t)$. Clearly $p(t_0) \leq 0$. Then

$$\begin{aligned} p'(t) &= \bar{\alpha}'_0(t) - \bar{\alpha}'_1(t) \\ &\leq Af(t, \bar{\alpha}_0) + B \int_{t_0}^t K(t, s, \bar{\alpha}_0(s)) ds \\ &\quad - A[f(t + \eta_2, \bar{\alpha}_0) - \{F_u(t + \eta_2, \bar{\alpha}_0) - \phi_u(t + \eta_2, \bar{\beta}_0)\}p(t)] \\ &\quad - B \int_{t_0}^t [K(t + \eta_2, s, \bar{\alpha}_0(s)) - K_u(t + \eta_2, s, \bar{\alpha}_0(s))p(s)] ds, \\ &\leq A[F_u(t + \eta_2, \bar{\alpha}_0) - \phi_u(t + \eta_2, \bar{\beta}_0)]p(t) + B \int_{t_0}^t K_u(t + \eta_2, s, \bar{\alpha}_0(s))p(s) ds, \end{aligned}$$

which, in view of Theorem 2, gives $p(t) \leq 0$, that is, $\bar{\alpha}_0(t) \leq \bar{\alpha}_1(t)$ on J .

(ii) Next, we set $p(t) = \bar{\alpha}_1(t) - \bar{\beta}_0(t)$ and note that $p(t_0) \leq 0$. Thus

$$\begin{aligned} p'(t) &= \bar{\alpha}'_1(t) - \beta'_0(t) \\ &\leq A[f(t + \eta_2, \bar{\alpha}_0) + \{F_u(t + \eta_2, \bar{\alpha}_0) - \phi_u(t + \eta_2, \bar{\beta}_0)\}(\bar{\alpha}_1 - \bar{\alpha}_0)] \\ &\quad + B \int_{t_0}^t [K(t + \eta_2, s, \bar{\alpha}_0(s)) + K_u(t + \eta_2, s, \bar{\alpha}_0(s))(\bar{\alpha}_1(s) - \bar{\alpha}_0(s))] ds \\ &\quad - Af(t + \eta_1, \bar{\beta}_0) - B \int_{t_0}^t K(t + \eta_1, s, \bar{\beta}_0(s)) ds \\ &\leq A[f(t + \eta_2, \bar{\alpha}_0) - f(t + \eta_2, \bar{\beta}_0(t))] \\ &\quad + \{F_u(t + \eta_2, \bar{\alpha}_0) - \phi_u(t + \eta_2, \bar{\beta}_0)\}(\bar{\alpha}_1 - \bar{\alpha}_0) \\ &\quad + B \int_{t_0}^t [K(t + \eta_2, s, \bar{\alpha}_0(s)) - K(t + \eta_2, s, \bar{\beta}_0(s))] \\ &\quad + K_u(t + \eta_2, s, \bar{\alpha}_0(s))(\bar{\alpha}_1(s) - \bar{\alpha}_0(s))] ds \end{aligned}$$

Using (A_3) and (2) together with the fact that $\bar{\beta}_0(t) \geq \bar{\alpha}_0(t)$, we find that

$$f(t + \eta_2, \bar{\alpha}_0) - f(t + \eta_2, \bar{\beta}_0(t)) \leq \{F_u(t + \eta_2, \bar{\alpha}_0) - \phi_u(t + \eta_2, \bar{\beta}_0)\}(\bar{\alpha}_0 - \bar{\beta}_0),$$

and by virtue of (3), we have

$$K(t + \eta_2, s, \bar{\alpha}_0(s)) - K(t + \eta_2, s, \bar{\beta}_0(s)) \leq K_u(t + \eta_2, s, \bar{\alpha}_0(s))(\bar{\alpha}_0 - \bar{\beta}_0),$$

which, in turn yield that

$$p'(t) \leq A[F_u(t + \eta_2, \bar{\alpha}_0) - \phi_u(t + \eta_2, \bar{\beta}_0)]p(t) + B \int_{t_0}^t K_u(t + \eta_2, s, \bar{\alpha}_0(s))p(s) ds.$$

Hence we obtain that $p(t) \leq 0$, that is, $\bar{\alpha}_1(t) \leq \bar{\beta}_0(t)$ on J . By a similar procedure, we can show that $\bar{\beta}_1(t) \leq \bar{\beta}_0(t)$.

(iii) It remains to show that $\alpha_1(t) \leq \beta_1(t)$. For that, we consider

$$\begin{aligned} \bar{\alpha}'_1(t) &= A[f(t + \eta_2, \bar{\alpha}_0) + \{F_u(t + \eta_2, \bar{\alpha}_0) - \phi_u(t + \eta_2, \bar{\beta}_0)\}(\bar{\alpha}_1 - \bar{\alpha}_0)] \\ &\quad + B \int_{t_0}^t [K(t + \eta_2, s, \bar{\alpha}_0(s)) + K_u(t + \eta_2, s, \bar{\alpha}_0(s))(\bar{\alpha}_1(s) - \bar{\alpha}_0(s))] ds, \\ &\leq Af(t + \eta_2, \bar{\alpha}_1) + B \int_{t_0}^t [K(t + \eta_2, s, \bar{\alpha}_1(s))] ds, \end{aligned}$$

where we have used (2), (3) and $\bar{\alpha}_0(t) \leq \bar{\alpha}_1(t) \leq \bar{\beta}_0(t)$. Similarly, we can prove that

$$\bar{\beta}'_1(t) \geq Af(t + \eta_2, \bar{\beta}_1) + B \int_{t_0}^t [K(t + \eta_2, s, \bar{\beta}_1(s))] ds.$$

Consequently, by Theorem 2, we have $\bar{\alpha}_1(t) \leq \bar{\beta}_1(t)$ on J . Combining conclusions of (i), (ii) and (iii) proves the validity of (6) on J .

Now, for $n > 1$, we assume that

$$\begin{aligned}\bar{\alpha}'_n(t) &\leq Af(t + \eta_2, \bar{\alpha}_n) + B \int_{t_0}^t [K(t + \eta_2, s, \bar{\alpha}_n(s))ds, \\ \bar{\beta}'_n(t) &\geq Af(t + \eta_2, \bar{\beta}_n) + B \int_{t_0}^t [K(t + \eta_2, s, \bar{\beta}_n(s))ds,\end{aligned}$$

and $\bar{\alpha}_0(t) \leq \bar{\alpha}_n(t) \leq \bar{\beta}_n(t) \leq \bar{\beta}_0(t)$ on J . We will show that

$$\bar{\alpha}_n(t) \leq \bar{\alpha}_{n+1}(t) \leq \bar{\beta}_{n+1}(t) \leq \bar{\beta}_n(t), \quad t_0 \leq t \leq t_0 + T,$$

where $\bar{\alpha}_{n+1}(t)$ and $\bar{\beta}_{n+1}(t)$ respectively satisfy the following IVPs

$$\begin{aligned}\bar{\alpha}'_{n+1}(t) &= A[f(t + \eta_2, \bar{\alpha}_n) + \{F_u(t + \eta_2, \bar{\alpha}_n) - \phi_u(t + \eta_2, \bar{\beta}_n)\}(\bar{\alpha}_{n+1} - \bar{\alpha}_n)] \\ &+ B \int_{t_0}^t [K(t + \eta_2, s, \bar{\alpha}_n(s)) + K_u(t + \eta_2, s, \bar{\alpha}_n(s))(\bar{\alpha}_{n+1}(s) - \bar{\alpha}_n(s))]ds,\end{aligned}$$

$$(7) \quad \bar{\alpha}_{n+1}(t_0) = u_0,$$

and

$$\begin{aligned}\bar{\beta}'_{n+1}(t) &= A[f(t + \eta_2, \bar{\beta}_n) + \{F_u(t + \eta_2, \bar{\alpha}_n) - \phi_u(t + \eta_2, \bar{\beta}_n)\}(\bar{\beta}_1 - \bar{\beta}_n)] \\ &+ B \int_{t_0}^t [K(t + \eta_2, s, \bar{\beta}_n(s)) + K_u(t + \eta_2, s, \bar{\alpha}_n(s))(\bar{\beta}_{n+1}(s) - \bar{\beta}_n(s))]ds,\end{aligned}$$

$$(8) \quad \bar{\beta}_{n+1}(t_0) = u_0,$$

where $\bar{\alpha}_n(t) = \alpha_n(t + \eta_2)$, $\bar{\beta}_n(t) = \beta_n(t + \eta_2)$. As before, we set $p_n(t) = \bar{\alpha}_n(t) - \bar{\alpha}_{n+1}(t)$ so that

$$\begin{aligned}p'_n(t) &\leq Af(t, \bar{\alpha}_n(t)) + B \int_{t_0}^t K(t, s, \bar{\alpha}_n(s))ds \\ &- A[f(t + \eta_2, \bar{\alpha}_n) - \{F_u(t + \eta_2, \bar{\alpha}_n) - \phi_u(t + \eta_2, \bar{\beta}_n)\}p_n(t)] \\ &- B \int_{t_0}^t [K(t + \eta_2, s, \bar{\alpha}_n(s)) - K_u(t + \eta_2, s, \bar{\alpha}_n(s))p_n(s)]ds, \\ &\leq A[F_u(t + \eta_2, \bar{\alpha}_n) - \phi_u(t + \eta_2, \bar{\beta}_n)]p_n(t) + B \int_{t_0}^t K_u(t + \eta_2, s, \bar{\alpha}_n(s))p_n(s)ds.\end{aligned}$$

Since $p_n(t_0) \leq 0$, therefore, by Theorem 2, we get $p_n(t) \leq 0$, that is, $\bar{\alpha}_n(t) \leq \bar{\alpha}_{n+1}(t)$ on J .

Now, let $p_n(t) = \bar{\alpha}_{n+1}(t) - \bar{\beta}_n(t)$ and using (A_3) , (2) and (3) together with $\bar{\beta}_n(t) \geq \bar{\alpha}_n(t)$, we find that

$$\begin{aligned} p'_n(t) &\leq A[f(t + \eta_2, \bar{\alpha}_0) + \{F_u(t + \eta_2, \bar{\alpha}_0) - \phi_u(t + \eta_2, \bar{\beta}_0)\}(\bar{\alpha}_{n+1} - \bar{\alpha}_n)] \\ &\quad + B \int_{t_0}^t [K(t + \eta_2, s, \bar{\alpha}_n(s)) + K_u(t + \eta_2, s, \bar{\alpha}_n(s))(\bar{\alpha}_{n+1}(s) - \bar{\alpha}_n(s))]ds \\ &\quad - Af(t + \eta_1, \bar{\beta}_n(t)) - B \int_{t_0}^t K(t + \eta_1, s, \bar{\beta}_n(s))ds \\ &\leq A[f(t + \eta_2, \bar{\alpha}_n) - f(t + \eta_2, \bar{\beta}_n(t))] \\ &\quad + \{F_u(t + \eta_2, \bar{\alpha}_n) - \phi_u(t + \eta_2, \bar{\beta}_n)\}(\bar{\alpha}_{n+1} - \bar{\alpha}_n) \\ &\quad + B \int_{t_0}^t [K(t + \eta_2, s, \bar{\alpha}_n(s)) - K(t + \eta_2, s, \bar{\beta}_n(s))] \\ &\quad + K_u(t + \eta_2, s, \bar{\alpha}_0(s))(\bar{\alpha}_{n+1}(s) - \bar{\alpha}_n(s))]ds \\ &\leq A[F_u(t + \eta_2, \bar{\alpha}_n) - \phi_u(t + \eta_2, \bar{\beta}_n)]p_n(t) + B \int_{t_0}^t K_u(t + \eta_2, s, \bar{\alpha}_n(s))p_n(s)ds. \end{aligned}$$

By the earlier arguments, it follows that $p_n(t) \leq 0$, as $p_n(t_0) \leq 0$, that is, $\bar{\alpha}_{n+1}(t) \leq \bar{\beta}_n(t)$ on J . In a similar way, it can be shown that $\bar{\alpha}_n(t) \leq \bar{\beta}_{n+1}(t) \leq \bar{\beta}_n(t)$ on J .

In view of the inequalities

$$f(t + \eta_2, \bar{\alpha}_n) \leq f(t + \eta_2, \bar{\alpha}_{n+1}(t)) + \{F_u(t + \eta_2, \bar{\alpha}_n) - \phi_u(t + \eta_2, \bar{\beta}_n)\}(\bar{\alpha}_n - \bar{\alpha}_{n+1}),$$

and

$$K(t + \eta_2, s, \bar{\alpha}_n(s)) \leq K(t + \eta_2, s, \bar{\alpha}_{n+1}(s)) + K_u(t + \eta_2, s, \bar{\alpha}_n(s))(\bar{\alpha}_n - \bar{\alpha}_{n+1}),$$

it is not hard to show that

$$\bar{\alpha}'_{n+1}(t) \leq Af(t + \eta_2, \bar{\alpha}_{n+1}) + B \int_{t_0}^t [K(t + \eta_2, s, \bar{\alpha}_{n+1}(s))]ds.$$

Similarly, we can prove that

$$\bar{\beta}'_{n+1}(t) \geq Af(t + \eta_2, \bar{\beta}_{n+1}) + B \int_{t_0}^t [K(t + \eta_2, s, \bar{\beta}_{n+1}(s))]ds.$$

Hence, by Theorem 2, we have $\bar{\alpha}_{n+1}(t) \leq \bar{\beta}_{n+1}(t)$ on J . Thus, it has been shown that

$$\bar{\alpha}_n(t) \leq \bar{\alpha}_{n+1}(t) \leq \bar{\beta}_{n+1}(t) \leq \bar{\beta}_n(t), \quad t_0 \leq t \leq t_0 + T.$$

Therefore, by induction, for all n , we obtain

$$\bar{\alpha}_0 \leq \bar{\alpha}_1 \leq \dots \leq \bar{\alpha}_n \leq \bar{\beta}_n \leq \dots \leq \bar{\beta}_1 \leq \bar{\beta}_0,$$

on $[t_0, t_0+T]$. Using the standard arguments [4, 23], it can be shown that the sequences $\{\alpha_n(t)\}, \{\beta_n(t)\}$ converge uniformly and monotonically to the unique solution of IVP

$$(9) \quad \bar{u}'(t) = Af(t + \eta_2, \bar{u}(t)) + B \int_{t_0}^t K(t + \eta_2, s, \bar{u}(s))ds, \quad \bar{u}(t_0) = u_0.$$

Introducing the variable $\zeta = t + \eta_2$, it can be shown that (9) is equivalent to the IVP

$$u'(\zeta) = Af(\zeta, u(\zeta)) + B \int_{t_0}^t K(\zeta, s, u(s))ds, \quad u(\zeta_0) = u_0.$$

In order to prove the quadratic convergence of the sequences, we set $e_{n+1}(t) = \bar{u}(t) - \bar{\alpha}_{n+1}(t) \geq 0$, $e_{n+1}(t_0) = 0$, and $g_{n+1}(t) = \bar{u}(t) - \bar{\beta}_{n+1}(t) \geq 0$, $g_{n+1}(t_0) = 0$. First we consider

$$\begin{aligned} e'_{n+1}(t) &= \bar{u}' - \bar{\alpha}'_{n+1} \\ &= Af(t + \eta_2, \bar{u}) + B \int_{t_0}^t K(t + \eta_2, s, \bar{u}(s))ds \\ &\quad - A[f(t + \eta_2, \bar{\alpha}_n) + \{F_u(t + \eta_2, \bar{\alpha}_n) - \phi_u(t + \eta_2, \bar{\beta}_n)\}(\bar{\alpha}_{n+1} - \bar{\alpha}_n)] \\ &\quad - B \int_{t_0}^t [K(t + \eta_2, s, \bar{\alpha}_n(s)) + K_u(t + \eta_2, s, \bar{\alpha}_n(s))(\bar{\alpha}_{n+1}(s) - \bar{\alpha}_n(s))]ds, \end{aligned}$$

Using the mean value theorem repeatedly, we get

$$\begin{aligned} e'_{n+1}(t) &\leq A[\{f_u(t + \eta_2, \sigma_1) - f_u(t + \eta_2, \bar{\alpha}_n)\}(\bar{u} - \bar{\alpha}_n) + f_u(t + \eta_2, \bar{\alpha}_n)e_{n+1}] \\ &\quad + B \int_{t_0}^t [K_u(t + \eta_2, s, \sigma_2)(\bar{u} - \bar{\alpha}_n) - K_u(t + \eta_2, s, \bar{\alpha}_n)(\bar{\alpha}_{n+1}(s) - \bar{\alpha}_n(s))]ds \\ &\leq A[\{f_{uu}(t + \eta_2, \rho_1)e_n^2 + f_u(t + \eta_2, \bar{\alpha}_n)e_{n+1}] \\ &\quad + B \int_{t_0}^t [K_{uu}(t + \eta_2, s, \rho_2)e_n^2 + K_u(t + \eta_2, s, \bar{\alpha}_n)e_{n+1}]ds \end{aligned}$$

where $\bar{\alpha}_n \leq \rho_i \leq \sigma_i \leq \bar{u}$, $i = 1, 2$. In view of (A_3) and (A_4) , it follows that $|f_{uu}(t + \eta_2, \bar{u})| \leq N_1$, $N_1 \geq 0$, $|f_u(t + \eta_2, \bar{u})| \leq L_1$, $L_1 \geq 0$, $|K_{uu}(t + \eta_2, \bar{u})| \leq M_1$, $|K_u(t + \eta_2, \bar{u})| \leq L_2$, $L_2 \geq 0$. Thus, the above expression takes the form

$$(10) \quad e'_{n+1}(t) \leq AL_1 e_{n+1}(t) + BL_2 \int_{t_0}^t e_{n+1}(s)ds + \chi(t),$$

where

$$(11) \quad \chi(t) = AN_1 e_n^2(t) + BM_1 \int_{t_0}^t e_n^2(s)ds \leq (AN_1 + BM_1 T) \max e_n^2(t), \quad t \in J.$$

Now, by Theorem 2, we find that $e_{n+1}(t) \leq h(t)$, $t \in J$ and $h(t)$ is the solution of related integro-differential equation

$$h'(t) = A_1 h(t) + B_2 \int_{t_0}^t h(s)ds + \chi(t),$$

$$(12) \quad e_n(t_0) = h(t_0) = 0,$$

where $A_1 = AL_1$ and $B_2 = BL_2$. To find an estimate for $h(t)$, let

$$\psi(t) = \int_{t_0}^t h(s)ds,$$

$$(13) \quad \psi(t_0) = 0, \quad \psi'(t_0) = 0.$$

Then (12) becomes

$$\begin{aligned} \psi''(t) - A_1\psi'(t) - B_2\psi(t) &= \chi(t), \\ \psi(t_0) = 0, \quad \psi'(t_0) &= 0. \end{aligned}$$

Solving by the method of variation of parameters and using (11) and (13), we find that

$$e_{n+1}(t) \leq h(t) \leq \frac{2e^{A_1T}}{\sqrt{A_1^2 + 4B_2}}\chi(t).$$

Hence

$$\max_{t \in J} e_{n+1}(t) \leq \delta_1 \max_{t \in J} e_n^2(t),$$

where $\delta_1 = \frac{2e^{A_1T}}{\sqrt{A_1^2 + 4B_2}}(AN_1 + BM_1T)$. Following a similar procedure, one can arrive at the conclusion

$$\max_{t \in J} g_{n+1}(t) \leq \delta_2 \max_{t \in J} g_n^2(t).$$

This completes the proof.

4. CONCLUDING REMARKS

The integro-differential equation (1) represents a general form of the equation representing distributed-infective (DI) model and in case of $A = 0$, it corresponds to a general type of the distributed-contact (DC) model for a disease spread by the dispersal of infectious individuals [24]. The main result established in the paper offers an approach to study the approximate solution of a general spread disease model with initial time difference. Moreover, the problem (1) reduces to the one dealing with purely integral type of nonlinearity for $A = 0$, $B = 1$ and for a first order nonlinear differential equation, we can put $A = 1$ and $B = 0$.

REFERENCES

- [1] R. Bellman and R. Kalaba, Quasilinearization and Nonlinear Boundary Value Problems, Amer. Elsevier, New York, 1965.
- [2] V. Lakshmikantham, An extension of the method of quasilinearization, J. Optim. Theory Appl. 82(1994), 315-321.
- [3] V. Lakshmikantham, Further improvement of Generalized quasilinearization, Nonlinear Anal. 27(1996), 223-227.
- [4] V. Lakshmikantham and A.S. Vatsala, Generalized Quasilinearization for Nonlinear Problems, Kluwer Academic Publishers, Dordrecht, 1998.
- [5] J.J. Nieto, Generalized quasilinearization method for a second order differential equation with Dirichlet boundary conditions, Proc. Amer.Math. Soc. 125(1997), 2599-2604.
- [6] A. Cabada, J.J. Nieto and Rafael Pita-da-veige, A note on rapid convergence of approximate solutions for an ordinary Dirichlet problem, Dyn. Contin. Discrete impuls. syst. 4(1998), 23-30.
- [7] A. Cabada and J.J. Nieto, Quasilinearization and rate of convergence for higher order nonlinear periodic boundary value problems, J. Optim. Theory Appl. 108(2001), 97-107.

- [8] Bashir Ahmad, J.J. Nieto and N. Shahzad, The Bellman-Kalaba-Lakshmikantham quasilinearization method for Neumann problems, *J. Math. Anal. Appl.* 257(2001), 356-363.
- [9] Bashir Ahmad, J.J. Nieto and N. Shahzad, Generalized quasilinearization method for mixed boundary value problems, *App. Math. Comput.* 133(2002), 423-429.
- [10] J.O. Adeyeye and U.U. Livinus, An extension of the generalized quasilinearization method of Lakshmikantham, *Nonlinear Stud.* 10(2003), 195-199.
- [11] V. Lakshmikantham and S. Leela, Advances in stability theory of Lyapunov: old and new, *Advances in stability theory at the end of the 20th century*, 121-134, *Stability Control Theory Methods Appl.* 13, Taylor & Francis, London, 2003.
- [12] V. Lakshmikantham, S. Leela and Devi J. Vasundhara, Stability criteria for solution of differential equations relative to initial time difference (to appear).
- [13] V. Lakshmikantham and A.S. Vatsala, Differential inequalities with time difference and applications, *J. Inequal. Appl.* 3(1999), 233-244.
- [14] V. Lakshmikantham and A.S. Vatsala, Theory of differential and integral inequalities with initial time difference and applications, *Analytic and geometric inequalities and applications*, 191-203, *Math. Appl.* 478, Kluwer Acad. Publ., Dordrecht, 1999.
- [15] S. Koksal and C. Yakar, Generalized quasilinearization method with initial time difference (to appear).
- [16] Z. Hubalek and J. Halouzka, West nile fever-a reemerging mosquito-borne viral disease in Europe, *Emerg. Infect. Dis.* 5(1999), 643-650.
- [17] C.M. Brasier, Rapid evolution of introduced plant pathogens via interspecific hybridization, *Bioscience* 51(2001), 123-133.
- [18] K.P. Hadeler, Reaction transport systems in biological modeling, *Mathematics inspired by Biology* (editors: V. Capasso and O. Diekmann) Springer, New York, (1999), 95-150.
- [19] M. Kot and W.M. Schaffer, Discrete-time growth-dispersal models, *Math. Biosci.* 80(1986), 109-136.
- [20] V. Lakshmikantham and M.R.M. Rao, *Theory of Integro-Differential Equations*, Gordon & Breach, London, 1995.
- [21] J.D. Murray, *Mathematical Biology*, Springer-Verlag, New York (second Edition), 1993.
- [22] M. Kot, M.A. Lewis and P.V. Driessche, Dispersal data and the spread of invading organisms, *Ecology* 77(1996), 2027-2042.
- [23] B. Ahmad, R.A. Khan and S. Sivasundaram, Generalized quasilinearization method for integro-differential equations, *Nonlinear Stud.* 8(2001), 331-341.
- [24] J. Medlock and M. Kot, Spreading disease: Integro-differential equations old and new, *Math. Biosci.* 184(2003), 201-222.